Sensitivity

Scen2 (Recessive) Scen2 (Multiplicative)

1.00 1.00

0.90 ,,”” 0.90 ‘,1”;"j:::::::;:::;'—'
0.80 0.80
0.70 / 0.70 / //
0.60 / 0.60
0,50

/ e GUWAS-NR
0,40

. 0.40
/ — | 1t
0.20 A 0.20

e [ shiEF

0.50

Sensitivity

nzn A 020
0.10 , 0,10
OOO ATTTTTITTITI T T T I T I T I T IT I T T ITITITTITTITITITITITT OOO TTTTTTIITTTITITITTI T TITTTIT I T T T TIT T TTTTTTTTTTT
0O 0 0 0 00 O Qo Q O 00000 C OO0
S = N Mo N0~ d S = ~Nm N~
0O O 0 0 00 oo o OO0 0000 C o OO0
1-specificity 1-specificity
Scen2 (Dominant) Scen2 (Additive)
] f !
‘f__
0.8 / 0.8 / /
0.7 0.7 /
206 Z 06
2 2
-
= 0.5 = 05
g 3
04 2 04
0.3 0.3
0.2 0.2
01 01 ]
O TTTTTTITTT I I T TP T I TTITTITITIT TTTTTITTITTITTl 0 T TTTTTTTTTTITTTI T I T I TIrTIT T rr T T T TTT T TTTTTITTrrrIrrl
CONNTOUVUNNTOOUNNTOW OWNOOKTOWLWMNO WSTOWOMNOW-SO W
CoddnNmMmMmgTNOONNDOOQ Qo d=nNng TN YoNNQO
cdccoco0doo0oGCcoocodcooad cdocCcodocococo0occCcooCoo

L-specificity 1-specificity




